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Q1. According to the principle of comparative advantage,

a.

b. Workers who specialize and trade are more productive than non-specialized workers.
d. both b and c are correct.

Q2. Unemployment insurance

b.

a. university graduates gain an economic advantage over high school graduates.

C.

increase job search effort.
d.

increase unemployment
increase wages.

c. contries that specialize and trade are economically better off than countries that are self-sufficient
increase employment.
demand for money?

Q3. According to the theory of liquidity preference, which variable adjusts to balance the supply and
a. money supply

b. quantity of output

c. price level

d.

interest rate
Q4. An allocation of resoures is said to be inefficient if

will decrease total surplus.

a. a good is not being produced by the sellers with lowest cost.
d. all of the above are correct.

b. moving production from a low-cost producer to a high-cost producer will decrease total surplus.
d.

c. moving consumption of the good from a buyer with a high valuation to a buyer with a low valuation
Q5. One characteristic of an oligopolistic market structure is

a. revenue maximization

a. firms in the industry are typically characterized by very diverse product lines.
c. the actions of one seller can have a large impact on the profitability of other sellers.

b. products typically sell at a price that reflects their marginal cost of production.

c. marginal revenue exceeds average revenue

b. education

since markets are typically large, the actions of one seller largely to unnoticed by its competitors
b. average revenue exceeds marginal revenue
a. ateacher’s blackboard

Q6. A profit maximing, monopolistically competitive firm is characterized by which of the following?

d. average revenue is equal to marginal revenue

Q7. Which of the following would be considered an investment in human capital?



c. purchase of a new computer to enhance labor productivity

d. all of the above

Q8. Marginal cost is equal to average variable cost when

a. average total cost is rising

b. total fixed costs are large relative to variable costs

c. marginal product of labor is rising

d. average variable cost is at its minimum

Q9. Goods that go into inventory and are not sold during the current period

a. are included in GDP as inventory investment

b. are intermediate goods until sold, hence, are not included in GDP

c. are included in GDP as consumption

d. are included in GDP as inventory investment, but not untile the goods are sold
Q10. Which of the following does the government use to encourage the research and development of
new technologies?

a. the patent system

b. research grants

c. tax breaks

d. all of the above
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